Moto-All.ru

CITMCOK OETAJIEY NI "REAR SWINGARM" TRIUMPH DAYTONA 675

//OEM.MOTO-ALL.RU/
TEJL: +7 (495) 177-12-75




CITMCOK OETAJIEY NI "REAR SWINGARM" TRIUMPH DAYTONA 675

//OEM.MOTO-ALL.RU/
TEJL: +7 (495) 177-12-75

Kit, S/Arm Long, Blue. Special

1 T2051695 Cpok mocTaBku OT 19 mHew Edition & Special Edition 2
458185

1 T2051696 Cpok noctaBku oT 19 nuei Kit, S/Arm Long, Graphite

1 T2051693 Cpok mocTask ot 19 mHedt Junngarm Assy, Long, Blue.

1 T2051694 Cpok nocTaBku oT 19 nuei Swingarm Assy, Long, Graphite

2 T3800177 CpoK mocTaBKu 0T 19 gHe# Bearing, Needle Roller, 17 24 15

3 T3600066 CpOK IIOCTaBKHU OT 27 gHEHN SEAL, OIL24 X 17X 5

4 T2053130 Cpok IocTaBKH OT 27 mHen SLEEVE,GROUND,17 10 30

5 T3330629 CpoK moCTaBKH OT 27 fHeU SCREW, M8 X 1.25 55 LONG

5 T3330644 CpoK mocTaBKu 0T 19 gHE# igg?ggH/HD M8 x 75, Slv.

6 T3350303 Cpok IoCcTaBKu OT 27 [Hen NUT,M8X1.25,SLV

7 T2050400 CpOK IIOCTaBKY 0T 27 mHEU CHAIN GUARD

8 T3330727 Cpok nocTaBsku oT 19 pgreit Screw, But/Hd, M6 x 20, Slv

9 T2050410 CpOK IIOCTaBKHU OT 27 gHEHN RUBBING STRIP, CHAIN

10 T3010061 Cpok IocTaBKM OT 27 mHel FLANGED SLEEVE, M6X9.0X3.25

11 T2050460 Cpok mocTaBku 0T 19 gHen Spindle, Swingarm

12 T2054063 Cpok noctaBsku oT 19 pgreit Spacer, 25x17x8.5.2517 8.5

13 T3600044 CpoK 1ocTaBKY 0T 27 [IHEeN SEAL,OIL,32 254

14 T3500204 CpOK IIOCTaBKHU OT 27 gHEHN CIRCLIP,INT,35X1.5

15 T3800081 Cpok IocTaBKH OT 27 mHen BEARING,BALL 17 35 10

16 T2050420 CpoK moCTaBKH OT 27 fHe’ SPACER, INTERNAL

17 T3800014 Cpok nocTaBku 0T 27 gHeR BEARING NEEDLE 2526

18 T2054344 CpoK mocTaBKu 0T 19 gHe# ?129581‘/& ?—round, 25x17x37.

19 T2051777 CpoK nocTaBku 0T 19 gHen Swingarm Pivot Adjuster

20 T3551240 Cpok nocTaBku oT 19 nuei Washer, M16 x 34 x 3

21 T3350155 CpoK 1ocTaBKu 0T 27 fIHEeN LOCKNUT, M16, THIN

22 T3900092 Cpok mocTasku o1 27 it S L CHAINGTYRES REDUCED

23 T2051775 Cpok nocTaBku oT 19 nuei Spindle Finisher, S/arm, LH

24 T2051776 CpoK mocTaBKu 0T 19 gHE# Spindle Finisher, S/arm, RH




